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Exercise 3.2.2. Let
A={(—1)"+§:n=1.2.3....} and B={reQ:0<xr<1}.

Answer the following questions for each set:
(a) What are the limit points?
(b) Is the set open? Closed?
(¢) Does the set contain any isolated points?

(d) Find the closure of the set,

A ¢h.
Ko ~dopen, b 9 zeh, bt %o
V£(7’.).C.n\+4.lb Qp;:l_{'{‘c_‘ﬁm 2-\‘%) wM

U ho'(' (;\ Av



Se fhu % wo \/L(zd Wfo C&vd'a.t:-'A (:\A-

g\?m‘“w Lw OéLB/ 0?‘3.
BG,}&.'\A\ °P¢b\. 6(‘4.«}

S %, gt e o €=
reed 9 ad g < RS . But T2
L csts e @c o T. %<r~<@+%‘

S L& £ ©.

(U)LO-*-Q Mt’b-{’(h-'c [omm& -
[omma - Lex achp ahs ahe®.

Tha @ Yge G ot a<3<p
@ gré ch_é. q<r<{>.

b
N 4b+_\[_?_461‘q@,>&,\,
(BgMgh€N9.f- ",'\'4 B’q‘?‘) .



( Lumma - @=R>

(Oci> dorsc \TR)

@ Opes T 5eX Contfaon o
(olatal pt=? e

Lawwer the Sdbmwin

e vt e " Chw

P et
[40-3 P AL (wm UKA- Lesdla, £
b, (ol Pf"S.(M (&}#1 {Aw&
Q%ﬁ’:&f f+$ oY’ (}-(db( ({5‘.
Stour. 0136 Zwx ¢ o A o2, (
ai -\, @9& .~\¢A-')/ al( oTter (>-cod3°"~’*
t;o(dm.
_E: Sw;'- LB = EO/C( "—v‘Q“
B 20 J B o e 5otz
Po? a
@ Fod e clpsany oA /A set-
A=Avl,= Aof-ii.
g-8 “Laf—‘@oth))oﬂ/l:( =(>,d.



Exercise 3.2.4. Let A be nonempty and bounded above so that s = sup A
exists.

(a) Show that s € A,

(b) Can an open set contain its supremum?
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